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Answer ang fiae questions.

1. (A) FiIl in the blanks with an appropriate

(iil The modifiers used to define
array of parameters or list
arguments is called

(ii{ The class used to create a mutable
strins is class.
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(B)

(iu) In C#, a string is known as an

program.

(u) The oPerator used with if
conditional statement is known as

Define the following terms in brief :

3x5=15

(t) Namespace

(it) Variable length variable

(iit) Output parameter

(iu) Arraylist 0
(u) for&ach 0 looP.

Define .NET. Mention four benefits of
.NET approach 2+4=6

What is an alias ? When do You use an
alias ? Illustrate with a suitable

2+)+6=19

between String () and
0 pointwise. 2x2=4

is different frorn .OLE
Explain in details.
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4.

(B)

(c)

w

(B)

What is static method ? Write a
program showing its imple*"",X131;

Write a program to enter a sentence
and count the number of characters
present in it. 6

Write a program to replace all blank
spaces of a multi-word line of text with

6'*'.

Write a method that would take an
array as input and check whether a
given element is present in the artay.
If the element is Present, then the
method will rerun true otherwise, false.

10

Briefly explain about hierarchical
inheritance. 4

Write a program to concatenate the two
strings "Corona" and "Vaccine" using-

s. (A)

(c)

(B)

(t) + oPerator

{it) Concatenate 0

What
with a
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suitable exampl
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6.

(C) What is your idea about public
modifier ? 3

5x4=2O

W Compile time polymorphism
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Inheritance
{

Inheritance

.NET Framework.


